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(LS : Liquidity Spread)
LSt = CDglt_l - KTB?)Mt_l
LS t AE f8d 2= e

CD91,: t—1 A|E CD91 =&l
KTB3M,: t—1 A& KTB 37H& =&l
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FC, = (k — 1) X (BR,_, + LS,) x

Fc: t A X=2E =2
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(Lh) 3X BB 2|X| =2 E(LIR : Leverage Index Return)
LIR, = (k x TR, —FC,

LIR,: t AI™ 3X BHE|X| =&

k(k =3) : H2[X] A=

TR t Al KAP KTB 3Y TR Index2| X|4 549 E&

FC: t ME XaxE H&
(Eh 3X 2IH2|X| X|4=(LIDX : Leverage Index)

LIDX, = LIDX,_, x (1 + LIR,)

LIDX,: t A& 3X 2HE|X| K|
LIR,: t A|™ 3X BIHE|X| =&
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(Lev. Duration), = k x (Duration),

(Lev. Duration), : 3X gH2|X| x| Fgo|M
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